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SUMMATIVE ASSESSMENT - 11
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Time allowed : 3 hours Maximum Marks : 90

The Question Paper is divided into four sections :

Section A :  Reading Comprehension 10 Marks
Section B : (i) Writing 10 Marks

(ii) Translation 05 Marks
Section C :  Applied Grammar 15 Marks
Section D :  Literature 50 Marks
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Language is a medium through which all the development in the human world take
place. The development of all the languages of the world is not the same. Some
languages are well developed due to advancement of the linguistic community in the
field of economics, culture, society, religion, science and politics, but some languages

still needed to be developed in their scripts.
(-

Like all human institutions, the language also changes, dies, grows and expands. For its
expansion, special care is needed, as we care for our gardens to grow and blossom. But
if it is not in use for a generation it will die out. Language can be used in two different
ways for the purpose of communication. It can be speech/spoken form or in written
form. The medium of speech/spoken is more important than the medium of writing as it

comes first with the evolution of the language community.
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